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March, 16th 2012

Question: A job seeker have got two attractive offers, both at $6000 a year. In order to

respond these offers, he wrote both companies and asked his chances were for raises over the next 5

years.

The first company replied that it would guarantee a raise of $400 every six months for the next 5

years. And its raises will be started at the second sixth-month. Meanwhile, the second company

said that it would guarantee a raise of $1600 every twelve months for the next five years since the

second year.

The job seeker accepted the second company’s offer. Is it right? Why?

Answer:

1


